D3POC0175 – PURCHASE ORDER CONTRACT BID FORM

<u>Description</u>: DISTRICT 3 ON CALL (ID/IQ) ROADWAY MAINTENANCE CREW STATE IN BRUNSWICK & NEW HANOVER COUNTIES UPON REQUEST

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Primary Routes	1,250	LF	\$24.06	\$30,075.00
2	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Secondary Routes	1,250	LF	\$22.68	\$28,350.00
3	0264000000-E	SP	Major Drainage Ditch Maintenance Primary Routes	30	SMI	\$3,447.92	\$103,437.60
4	0264000000-E	SP	Major Drainage Ditch Maintenance Secondary Routes	40	SMI	\$3,348.51	\$133,940.40
5	0264000000-E	SP	Maintenance of Shoulders AND Ditches Primary Routes	5	SMI	\$5,459.61	\$27,298.05
6	0264000000-E	SP	Maintenance of Shoulders AND Ditches Secondary Routes	5	SMI	\$5,300.86	\$26,504.30
7	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Primary Routes	40	SMI	\$4,589.84	\$183,593.60
8	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Secondary Routes	20	SMI	\$4,543.13	\$90,862.60

TOTAL BID:	\$624,061.55	V ohn
CONTRACTOR Morgan Truck	king & General Construction, Inc	
ADDRESS P.O. Box 91 Shall	otte NC 28459	

Federal Identification Number 46-3518978	
Contractor's License Number_86254	
Authorized Agent Tarkessia Landis Margan	
Title President	
Signature Signature	
Date 7 19 33	
Witness Natia brown	
Title Corporate Secretary	
Signature Matia Brussen Date 7/19/85	3
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds	, and Contract Execution)
Name Natia Brown	
Email morgantrucking11@gmail.com	
Phone 910-842-8035 ext 2	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMI	ENT OF TRANSPORTATION
This bid has been reviewed in accordance with Article 103-1 of the Standard Specification	ns for Roads and Structures 2018.
Reviewed by NCDOT Mary Kinnel	Date 7/20/2023
all for	7/20/2027

D3POC0175 - PURCHASE ORDER CONTRACT BID FORM

<u>Description</u>: DISTRICT 3 ON CALL (ID/IQ) ROADWAY MAINTENANCE CREW STATE IN BRUNSWICK & NEW HANOVER COUNTIES UPON REQUEST

LINE#	ITEM#	SEC	DESCRIPTION	QŤY	UNIT	UNIT PRICE	AMOUNT BID
1	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Primary Routes	1,250	LF	8105.00	\$131.250.00
2	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Secondary Routes	1,250	LF	a 105.00	\$131,250,00
3	0264000000-E	SP	Major Drainage Ditch Maintenance Primary Routes	30	SMI		\$36,000.00
4	0264000000-E	SP	Major Drainage Ditch Maintenance Secondary Routes	40	SMI	\$1,200.00	448,000,00
5	0264000000-E	SP	Maintenance of Shoulders AND Ditches Primary Routes	5	SMI	€3,500.00	¥ 17,560.00
6	0264000000-E	SP	Maintenance of Shoulders AND Ditches Secondary Routes	5	SMI	\$3,500.00	\$ 17,500,00
7	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Primary Routes	40	SMI	65,500.00	\$120,000,00
8	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Secondary Routes	20	SMI	5,500.00	# 110,000,0°

TOTAL BID: _	J 111,500.		V 3112
CONTRACTOR JMC	Cleaning & N	hulching LLC	
ADDRESS 4959 Havin	8m Phebs Rd	La Granse, No	28551

Federal Identification Number 85-1829790					
Contractor's License Number 19583 Authorized Agen Dime More	CORPORATE				
Signature Journal Mary Date 7-16-2023	CORPORATE SEAL				
Witness Judy Harrison Title Whess					
Signature Judy Harrison Date 7-16-2023					
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, B	onds, and Contract Execution)				
Name Muore					
Email jaineharrison mooreagnail. Com					
Phone 252-559-9960					
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPAR	RTMENT OF TRANSPORTATION				

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2018.

Reviewed by NCDOT Mary Kimmel

Date 7/20/2023

Accepted by NCDOT Journal Date 7/20/2023

D3POC0175 - PURCHASE ORDER CONTRACT BID FORM

<u>Description</u>: DISTRICT 3 ON CALL (ID/IQ) ROADWAY MAINTENANCE CREW STATE IN BRUNSWICK & NEW HANOVER COUNTIES UPON REQUEST

LINE#	ГТЕМ#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Primary Routes	1,250	LF	25.08	\$ 31,350-
2	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Secondary Routes	1,250	LF	Z5.08	\$ 31,350-
3	0264000000-E	SP	Major Drainage Ditch Maintenance Primary Routes	30	SMI	5 280-	\$158,400-
4	0264000000-E	SP	Major Drainage Ditch Maintenance Secondary Routes	40	SMI	5,280-	\$211,200 -
5	0264000000-E	SP	Maintenance of Shoulders AND Ditches Primary Routes	5	SMI	6,270 -	\$31350-
6	0264000000-E	SP	Maintenance of Shoulders AND Ditches Secondary Routes	5	SMI	6,270-	\$ 31,350 -
7	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Primary Routes	40	SMI	3036	\$121,440-
8	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Secondary Routes	20	SMI	3036-	\$60,720-

	\$677,160.00	pan
TOTAL BID:	Sixhadrad thousand Sevent seven or hondred sixty ables of no cents	ne
	TIMBER STRY WITH OF THE 18	4

CONTRACTOR PRIOF CONTRACTING, INC

ADDRESS 12603 CAMP CHARLES RD, BAILEY, NC 27807

Federal Identification Number 46-3191475	
Contractor's License Number 74171	
Authorized Agent ERC S. WAINWRIGHT	CORPORATE
Title CORP. SEC. VP OPERATIONS Signature	CORLORATE
Date 7/19/23	
Witness CARROLL RAYNOR	
Title SECRETARY Signature Date 7/19/23	_
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and C	Contract Execution)
Name Earl S. WAINWRIGHT	
Email erica pride incinet	
Phone <u>752 - 702-9609</u>	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT O	F TRANSPORTATION
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Re	oads and Structures 2018.
Reviewed by NCDOT Mary Kimmel	Date 7/20/2023
Accepted by NCDOT Soruthin Milli	Date 7/20 /2023

D3POC0175 – PURCHASE ORDER CONTRACT BID FORM

Description: DISTRICT 3 ON CALL (ID/IQ) ROADWAY MAINTENANCE CREW STATE IN BRUNSWICK & NEW HANOVER COUNTIES UPON REQUEST

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Primary Routes	1,250	LF	40.55	50,687.50 85,155.00	sh
2	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Secondary Routes	1,250	LF	34,55	43,187.50 240,220.00	Ø
3	0264000000-E	SP	Major Drainage Ditch Maintenance Primary Routes	30	SMI	4,860.00	145,800.00 267,300.00	otr
4	0264000000-E	SP	Major Drainage Ditch Maintenance Secondary Routes	40	SMI	4,260.00	170,400.00	sh
5	0264000000-E	SP	Maintenance of Shoulders AND Ditches Primary Routes	5	SMI	6,110.00	40,550,00 -851,550.00	stn
6	0264000000-E	SP	Maintenance of Shoulders AND Ditches Secondary Routes	5	SMI	6,410.00	34,550.00 2,176,650.00	Sh
7	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Primary Routes	40	SMI	3,250.00	130,000,00	ph
8	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Secondary Routes	20	SMI	2650.00	53,000 410,750 .00	str

TOTAL BID:	\$ 4,920,675.00	668,175°°	rphy
	, ,		. 0

CONTRACTOR TO Lanier Inc

ADDRESS 282 Harris Creek RD, Jocksonville, nc 28540

Federal Identification Number 20 - 5487069	
Contractor's License Number 6 3573	
Authorized Agent Tim Lange	CORPORATE SEAL
Title Pregident	
Signature	CORPORATE SEAL
Date 7-20-2023	
Witness Ashleigh L. Williams	
Title Secretary	
Signature ash Date 7/50/5	2083
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, B	onds, and Contract Execution)
Name Fim Laria	
Email time landergrading . com	
Phone 910 - 340 - 3394	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPAR	TMENT OF TRANSPORTATION
This bid has been reviewed in accordance with Article 103-1 of the Standard Specific	cations for Roads and Structures 2018.
Reviewed by NCDOT Mary Kimmel	Date $\frac{7/20/2023}{7/20/2023}$
Accented by NCDOT Cutto Mitte	Date 7/20/2023